Mechanical data

(according fo IEC 61076-2-101) Material fWSTe“e@FTei[”hwgﬁf"doa”{a W
no. of poles / coding |8 / X housing / surface GD-Zn / Ni _ see installation recommendation M16x1.5

confact termination dip solder / sockef|contact carrier PPA design DSI
confact-@ 0,6mm colour black
temperafure range -L0°C 7/ +90°C wire -
profection class 1P 67 tross section -
mafing cycles >100 confacfs / surface CuZn / Au

} M12 STANDARD / sealing gaskef FKM / NBR
locking sysfem SPEEDCON Sotting .

VRS

=
vj
L

nut enclosed

6.8 6,6 -
¢18§ separafely

U
-

0.6
|
\
|
|
|
\
L
M12x1
SCo
M16x 1.5

I

SPEEDCON X-coding
marking (plug-in side) - 18 -
19,4

for the payment of damages according to §19 UWG German Law. All rights reserved. in particular the right to

The copying. distribution and utilistion of this document as well as the communication of the contents to others
carry out patent, utility model or ornamental design registrations.

without ‘expressed authorization is prohibited according to §18 UWG German Law. Offenders will be held liable

ALL specified dafa refers to the mounted M12 installation plugs > IP54 and requires
thaft fthe connecfor pair be correcfly plugged and locked. Influences from wires, cables
or PCB mounting are also fto be faken info consideratfion.

View of pin assignment Plug-in side

Posifion PCB-layout fo

PCB-Layout cutout device

(advice)
L5 6,85 6,650

Gebrauchsmuster- oder Geschmacksmusteranmeldungen durchzuf ghren.

c
@
2
[=]
=
=
@
>
(L=
=
=
@®
o
o
€
(7]
o
w
o
=
c
w
[
£
@
w
o
c
2
‘v
&
=
=]
c
2
o
c
2
r
@
3z
[
[
>
wn
c
@
€
2
x
o
o
w
W
w
2
o
o
c
2
2
=
8
-
K
>
[
(A
>
@
3
o
wn
(7
o
[}
o
c
o
‘v
=

soweil nicht ausdricklich gesfattet. Zuwiderhandlungen verpflichten zu Schadenersatz (§19 UWG). Alle Rechte

% X-toding

£ confact carrier ‘design of the solder holes

- provided by fhe customer, according fo

§ solder-process

:-'I:*CI' scale:
&- ape T e technical changes reserved Index 1 / 2011-10-26 21
%% date name [description: ‘ , ,

& & design| 2011-10-26 | Thumm Housing wifth dip solder confacts

g3 | hk. Rear mounting (M16x1,5) page: 1
g& of: 1
3 drawing-no.: BS-0852X92QD00

Eg Oy |order-no.: 142177

2z article designation:  |SACC-DSI-FSX-8C0ON-M16-L180 SCO




